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* The ratio betwsen 1 metre and 1 kilometre is—

(a) 1:0.001

{b) 1:0.0001 "
A{e) 1:100

() 1:1000

323%‘1?0&32%&

(@) 008

@ 006
(&) 0,07

() 0.8

The mean pr@part:onai of 0.32 and 0.02 g~
(a) 005 |

" (b) 0.06

) 007

(@) 008
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What will be the 12%. of Rs. 1,000—

(a)
(b}

(c)

(d)

Rs. 100
Fls. 120
Rs. 150

None of these

‘maﬁ el B wd B e g

AT I 2 B—

@) 5

(3)

86

(|) 10,6

(2)

2,6

Find two numbers whose sum is 8 and whose

difference is 2—

()
(b)

(c)
(d)

53

86
10,6

2,6

MT-3 o FT.0.

W)

{vi)
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Who prapérgs the invoice—
(@ |
(b).

(4)

gf2 3x+4 =34 o x B A1 -

(&) 7

(@ 30

@) 10

It 3x +4 =34 then value of x is—

&) 4

(@) 7

(b)
() .

30

_cd)4
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Seller
Buyer
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(&) 3

@ 4

@ 7
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Numbér of elements in 3 X 4 matrix is—
-

(a)
(b)
{e)
(d)

3
4
7

12

(viii) mw@vmmmmmm

8
(=)
@)
)

&)

3.x 4

4x3

4x4 .

3x3

MT-3

PT.O.

(ix)

(6)

The order of matrix having four columns: and

three rows is—

(a)
(b)

@

3x4
4x3
4x4¢
3x3

af2 frel m@sﬁwﬁaﬁﬁamqg% TR
&), o Y e A - |
(@) T

@
(a)
()

Rt
Pyl
afew

If transpose of any matrix is equtal to the original

matrix, then such matrix is—

(a)
(b)
(c)
(d)

Zero

Symmetric

Triangular

Vector
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206.35 % YOG BT QUITT B

(#1), 8

(@) 1 |

@) 2 B

@ sHIaad
Characteristics of logarithm of 206.35 is— .
@ 3 o
(b) 1
(c) 2

(d) None of these

1.9820 T TS &—

(31) 9594

(@) 959.4

() 95.94
(@) 9.594

Antilog of 1.9820 is —

(a) 9594

(b) 959.4

c) 9594
)

9.594

——

MT-3 : PTO.

(xii)

(8)

3 B IAHAT B—

@) x

@) 3x
@) 2x
(&) 3x?

The derivative of x° is—

(@ x

~ {(b) 3x

(xii)

(c) 2x°
(d)- 3x2

To 7500 BT 8% B! X W- 3 94 DI IRV

O 8-

(&) o 1,200

@) %0.1,800

(|) %o 2,140

(& o 1,860

MT-3
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| Simple interest of Rs. 7.500 @ 8% ‘forayears (xv) Y wrnfim @I m &3 -
is— | @) B was .
(@) Rs.1,200 @ S
(b) Rs.1,800 () afaea T
(&) Sudu @il
(¢) Rs.2,140 Application area of linear programming is—
(d) Rs.1,860 (a) Area of agriculture
‘ B (b) Production management
. _ ! : : (c¢) Personnel management
i 5% ,
(xiv) To 400 %1 2 9§ &1 5% affs Brex @m ) . Allofthese
e, (& H) grm- | avs-q
(3) 40 | | | ' Section-B
@ 31 - Y SR a
o Short Answer Type Questions
) 41 . .
()_ e : @ ywHl & o Sfv | usle uvE 5 3id B 2|
(g:' 51 | Note : Attempt all questions, Each question carri es 5 marks.
Compound interest (in rupees) on Rs. 400 for A
2 years at 5% p. a. will be— | ~ Unitl
(@ 40. ol @ R @ AT 209 AR 48, o 99 Gens
(b) 3t & U RTE P -
{c) 41 ' | The sum of two numbers is 20 and difference is 4.
(d) 51 | ' What is the ratio between the numbers ?
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If 29 percent of the papﬁlafionjé{ g}{ﬂf

~ find the total population.

Tl
“Unit

a’rmaﬁwm 16313? Wm*eﬁfsw
muﬁwa%w%lmms |

The sum of two numbers'is fISa_nd 8 ,times of their

difference is equal to thelf stim. Find the numbers.
ﬁ drorat
- or .
o ¥ A T ey 7
What do yol mean by an Invoice 7

Tl

Unit-H
mﬁqg A R éﬁ&v'?mn U5 SEEXU AHY
[y |

MT-3.

PT.0.

S eAY

Qvi

112}

nwith an g

Give definition of matriv-and capla “ample
IC;‘:% 21
Or

| 6 16
:ma;g[w Q]ﬁsﬁwaﬂf“rﬁl

_ -6 16
Multiply matrix | 4 0 | by 5.

sV

Unit-1vV

W%%ﬁﬂqmi

| Explggm fundamental laws ot.ipganthm._

E m“m .'ﬂ.‘

Write the sfatement of Euler‘s theorem.

TV |

Unit-¥V
%o 10,000 1 6% aififs @rw @ & A 3 7 FI
e wi|d DI |
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"~ Find the interest on Rs. 10,000 at'an annual rate of

Note

Q.VEI

6% for 3years.
SHI4l

' or
What'are the objectives of linear programming 7
"vs-q
Section-B

Long Answer Type Questions

: Wl WAl & ST QT L 9IS U 9 3d BT E |
: Attempt all questions. Each question carries 9 marks.

ol

Unit-l

fﬁosaeo'cﬁt ABqacaH’taa 6:5% U J

e @R - , :
Divide Rs. 5,880 in the ratio of 3: 6 : 5 among A, B

~andC,

o
- or

U g9 4 D & § INar 3| forad 9 T

wai’rmﬁ4mqaﬁaai‘wa’ﬁz4qeﬁam
wlmqﬁml |

MT-3

Qvil

QX

(14)

A candidate secured 42% votes in an election and
was defeated by 24 votes. Find out the total number

of votes. {you may assume only two candidates)

THTE-11
Unit-ll

g, A ¥.34 3§ 481 &1 10 7 TF I a1y

T TP 48 o | IAH IAA TG T B |

Piyush is 34 years older than Ayush. Ten years ago,
the total of their age was 48. Find their present ages.

Snil

or , -

e dirs g § ? 98 i aE W @ ? s
e AR gEeed foe d IR B
What is proforma invoice '? Why is it prepared ?
Distinguish between an ordinary invoice and a
proforma invoice. ‘ '

wTs-ill

Unit-lli

‘A+C=B& d CH Fa SR wafe—

(41 4 -5] - 19.4 7]
20 6| |8 2 -1
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If A+ C =B, find C, when—

f1 4 -5] - [9 4 7
u| R b
"2 0 B [8 2 4]'

3
_ or
s R R wfean R
Write mathematical operations on matrices.
sTE-1V
. Unit-1IvV
SYIUG Bl FEdl § x BT A T B

1.6x12
0.036

- Find the value of x with the help of logarithms—

;1,5-x 1.2
0.036
. ‘ or
?;c4-2x3— Bx-7
MT3 "

QXl .

| (18)
Differentiate— "
7x* '—2_x3 - 8x—7 _
ITTE-V
Unit-v

afe 39 & o 2000 T MsErE o 2315 B W 2
o THYIE @S P R A PR |

If Rs. 2,000 amounts to Rs. 2315 at compound
interest in 3 years. Find the rate of interest.

Y]
or |
Y wHA B Heed aen Wi &1 e A |
Discuss the importance and limitations of linear
programming.
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